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:H�ZHUH�LQVWUXFWHG�E\�7KH�$EEH\�*URXS��&DPEULGJHVKLUH��/LPLWHG�WR�VXSSRUW�D�
SODQQLQJ� DSSOLFDWLRQ� IRU� WKH� UHGHYHORSPHQW�RI� ODQG�RII�+DUULVRQ�:D\�� 6W� ,YHV�
IRU� D� PL[� RI� IDVW-IRRG� �UHVWDXUDQW� DQG� GULYH-WKUX�� DQG� FDIp� XVHV�� 7KH� VLWH� LV�
NQRZQ�DV� WKH�$EEH\�5HWDLO� 3DUN� DQG� OLHV� DGMDFHQW� DQ� H[LVWLQJ� IRRG� VWRUH� DQG�
RWKHU�FRPPHUFLDO�XVHV�� 
 
$3352$&+ 
 
7KH�ZLGHU�VLWH�KDV�EHHQ�WKH�VXEMHFW�RI�D�QXPEHU�RI�SODQQLQJ�DSSOLFDWLRQV�DQG�
ZH� VXSSRUWHG� HDFK� RI� WKHVH� ZLWK� DSSURSULDWH� WUDQVSRUW� DQDO\VLV�� 7KH� VLWH�
SUHGRPLQDQWO\� SURYLGHV� IDVW-IRRG�� FDIp� DQG� UHVWDXUDQW� XVHV� ZLWK� ERWK�
0F'RQDOGV� DQG� &RVWD� &RIIHH� SURYLGLQJ� D� GULYH-WKUX� RSWLRQ� DV� SDUW� RI� WKHLU�
VXFFHVV�EXVLQHVV�RQ�VLWH��$OO�SUHYLRXV�SODQQLQJ�DSSOLFDWLRQV�ZHUH�VXSSRUWHG�E\�
7UDQVSRUW� DGYLFH�SURYLGHG�E\�XV� DQG�ZH�SOD\HG�DQ� LPSRUWDQW� UROH� H[DPLQLQJ�
WKH�SURYLVLRQ�RI�QHZ�YHKLFOH�DQG�SHGHVWULDQ�DFFHVVHV�� 
 
7KH�VLWH�KDV�H[SDQGHG�VLQFH�WKH�RULJLQDO�SODQQLQJ�SHUPLVVLRQ�ZDV�JUDQWHG�DQG�
D�IXUWKHU��VL[WK�LQ�WRWDO��XQLW�KDV�EHHQ�JUDQWHG�SODQQLQJ�SHUPLVVLRQ�RQ�WKH�VLWH�
EDVHG� XSRQ� DQDO\VLV� RI� FURVV-YLVLWDWLRQ� DQG� OLQNHG� WULS-PDNLQJ� WKDW� ZH�
SURYLGHG��:H� XQGHUWRRN� D� FDU� SDUNLQJ� DFFXPXODWLRQ� DQDO\VLV� WR� GHPRQVWUDWH�
WKDW�DGHTXDWH�SDUNLQJ�ZDV�SURYLGHG�DFURVV�WKH�ZLGHU�VLWH�ZLWKRXW�WKH�RYHU�VSLOO�
RQWR�WKH�ORFDO�KLJKZD\�QHWZRUN��:H�DOVR�FRPSOHWHG�WKH�V����GHVLJQ�GUDZLQJV�
DQG�JDLQHG�WHFKQLFDO�DSSURYDO�IRU�WKH�DVVRFLDWHG�ZRUNV�DQG�WKH�6LWH�RSHQHG�WR�
QHZ�EXVLQHVV�LQ������� 
 
 
287&20( 
 
7KH�VFKHPH�ZDV�JUDQWHG�SODQQLQJ�SHUPLVVLRQ�LQ������ 

3/$11,1*�$33/,&$7,21 

35(-$33/,&$7,21 

3/$11,1*�$33($/ 

3267-3/$11,1* 3267-&216758&7,21��
021,725,1*�	�9$/,'$7,21 


